L thnung 3 (Hohmann)

[ vIL1 Diele 3,.825x 1,50 Sn i Ve
1,68 x 1,25 = 2.10
= 7,84 qm
vz we . 1,50 x 0,95 = 1,43 gm
| viI3Bad 2.475% 2,85 Ll 08 ’
1,05 x 0,875 = 0.92
e = 7,97 qm
- VIL4 Kiiche 2,535x 4,115 = 10,43
1,44 x 0,10 = 014
1,40 x 0,50 = i 00
- 123 x 1,002 = 0,62
: : = 10,65 gm
VIL5 Schlafen 1 4,015x 3,90 = 15,66
1.85 x 0,50 =0
-2,05 x 1,00/2 = 1,03
= 15,56 qm
VIL.6 Abstellen : 2,50 x 1,50 = 375
3,00 x 0,60/2 0,90 . o
VIL.7 Essen + :
Wohnen 5.385% SH475 Lin0a8
4,46 x 347 = 15
125 x 0,50 = 0,63
-4,135x 1,00/2 2,07 .
VII.8 Schlafen 2: 4,125x 3,18 Ein 13012 :
1,25 x 0,50 = 0,63
- 1,93 x 1,002 = 0,97
. 0,80 x 045 =036
i = 12,42 gm
| vm9Loggia 2,885x 2,10 = 806 ;
? 251 x 0,25 e ,
? : 6,69 x 1/2 = 35
= 105,59 gm
-0,5% f. Putz = 0,53 gm
Wohnfldche Wohnung 3 = 105,06 qm
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